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Regression Analysis

; Ly Flondet). 220407
Std. Errorg”13.82 Dep. Var. Monthly Sales (y) - )
ANOVA table W h'e‘?‘? vars / /h" Z)
Source SS df MS
Regression 14,200.000 1 14,200.0000
Residual 1,530,0000,° 8 191.2500 ibr?/o 0

Total 15,730.0000 \ 9 -
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Regression output 7 confidence inferval

variables (coefﬁcie,nts std. error t (df=8) -value 95% lower 95% upper
Bt 60.0000 9.2260 ; 38.7247 81.2753
% 5.0055 /0.5803?) 3.6619 6.3381
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Observation Monthly Sales (y) Predicted Residual g b
1 58.0 70.0 -12.0 )
2 105.0 90.0 15.0
3 88.0 100.0 -12.0
4 118.0 100.0 Fas 18.0
5 L/} “ 117.0 120.0 N -3.0 ol (\ .
6 "~ \ 1370 1400 ?L 30 1€'= }L - (1‘
7 157.0 160.0 -3.0
8 169.0 160.0 } 9.0
9 149.0 170.0 -21.0 e 7l
10 202.0 190.0 12.0 . DJO F (2:37&3 ('3'5'33«/:,12 & j
| . tHP-Y)
Predicted values for: Monthly Sales (y) — + -

95% Confidence /nteﬁ 95% Prediction Interval
t Population (x) Predicted _lower ssessembeatipper er er  Leverage / IO Sé ?5
10 110.000  98.583 121.417 76.127  143.873 (0.128,
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